ﬂ f g & W 4eThIpe ApoOH, TeCATUUHBIE IPOOH, TOPSTOK
oreparmii o CKOOKaMu

Nwms: Jara: Orenka:
1 1 1 3
2,6+ =)x4—-5 4= —x16+4+3(=+-)=
1 1
(2,3+3)><2—6= 3,6x8+4—2(4,1—§):
1 1 2 2
15(= +2,8) + 2+ == —x10+2+5(=+ =
5(5+2.8)+3% 2+ 5 =< 10 5(3+5.7)
1 1
5—2(4—2,2)= 3,8><8+2+2(3,4+§)=
3 1 1 1
4(=+ =)+2 + - = 22— — — 4,7 =
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4eThIpe IpoOu, IeCITUYHbBIE TPOOHU, TOPSIOK

oreparmii o CKOOKaMu

Nwms:

1 19
2,6+2)x4—54=— =6
(9 3) b 3

W —

(2,3+3)x2—

1
15(5 +2.8) +3x 2+

N =

1 31 1
5 -2(4-2,2)= (-75) = (37)

301 1 73 1
A2+ =)+2x3+ - =" =12
2 2 6 6 6

Jara: Orenka:

1 1 3. 73 _13
—x16+4+3(=+2)= = =3
5 G273 n

1
3,6x8+4-2(4,1-3)=0

2 2 203 5
- x10+2+5(5+5,7)= — =33-
5 (3 7) 6 6

1
3,8x8+2+2(3,4 5) =23

1
(2.2-7)%5=4,7= =5 =55
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